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CRID

MANDT [CLNT (3)]

OBJTY [CHAR (2)]

OBJID [NUMC (8)]

KAKO

MANDT [CLNT (3)]

KAPID [NUMC (8)]

TOO0O

MANDT [CLNT (3)]

TOO1lW

MANDT [CLNT (3)]

WERKS [CHAR (4)]

TOO06

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

T024C

MANDT [CLNT (3)]

CPLGR [CHAR (3)]

T421

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LOGRP [CHAR (3)]

T423

N | MANDT [CLNT (3)]

WERKS [CHAR (4)]

QUALF [CHAR (2)]

T499S

MANDT [CLNT (3)]

WERKS [CHAR (4)]

STAND [CHAR (10)]

TC24

MANDT [CLNT (3)]

WERKS [CHAR (4)]

VERAN [CHAR (3)]

TC30

MANDT [CLNT (3)]

VERWE [CHAR (4)]

TMATY

MANDT [CLNT (3)]

MATYP [CHAR (10)]

TSRTB

MANDT [CLNT (3)]

SORTB [CHAR (9)]




